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U 55 .100 74% [:X:9.700, £:17.900, £:12.400
SRR (IR ER) 2 [_NU 55 700 | 71% | /kA:12.100, £:12.900
u 55 600 | 64% [7k:15,000, #:18.800, 118,600
U 55 600 | 66% [7k:14.000. £:19.100
U 55 .200 67% |7k:13.700, KR +E:14.100
FELL=3p48 (RFR) [EAIE:S u 55
i (ARER) ¢ u 55




EW#EMAA : 2019/05/30 ~
9/1
FH A=~/ —%18
XF B8
AR i
BEE (PED) =04k (R |8 & 2 (hER) u 55 200
u 55 200
U 55 .700
u 55 800
bk (RER) R U 55 .400
u 55 .300
U 55 .100
U 55 .100
FEIL=3#E IR ER) [EAIE:S u 55 .000
i (ARER) ¢ u 55 26.900

TR—N—%FIHEEXROATBERED)

JTA



JTA

TR—N\—%FGIHEEROA13~16BEFEN)

EEMAE - 2019/05/30 ~
9/13 9/14 9/15 9/16
F A= | 2—i—5@ | 25l | 2—1—5#
= w4
BAMR | gmm | mnm | emm | EmE
26.900 33.400 12,000 12.000

R Li=3h 48 (3R R) Rl LLI 5 NUot1 | S5EBET
SheB(FRE) % | NUOi6 | 55ERT 12,000 12,000 26,900 33,400




JTA

TR—N—%FGIHEER(OA20~23BEFEN)

EEMAE - 2019/05/30 ~
9/20 9/21 9/22 9/23
F A= | 2—i—5@ | 25l | 2—1—5#
= w4
BAMR | gmm | mnm | emm | EmE
26.900 33.400 12,000 12.000

R Li=3h 48 (3R R) Rl LLI 5 NUot1 | S5EBET
SheB(FRE) % | NUOi6 | 55ERT 12,000 12,000 26,900 33,400




JTA

[ZR—I—%BHEEXR(10A1~14BEES)

EEMAE - 2019/05/30 ~
10/11 10/12 10/13 10/14
F A= | 2—i—5@ | 25l | 2—1—5#
= w4
BAMR | gmm | mnm | emm | EmE
26.900 33.400 12,000 12.000

R Li=3h 48 (3R R) Rl LLI 5 NUot1 | S5EBET
SheB(FRE) % | NUOi6 | 55ERT 12,000 12,000 26,900 33,400




JTA

[R—/I—%BHEEXR(10A18~22BEES)

10/22

2—ri— %4

EREEAA : 2019/05/30 ~
10/18 10/19 10/20 10/21
A—ri—%f | 2%

F AR | A%

= w4
BAMR g | mnm | emm | Gnm | EAE
12,000 12.000 12,000
12,000

R Li=3h 48 (3R R) Rl LLI 5 NUot1 | S5EBET 26.900 26,900
SheB(FRE) % | NUOi6 | 55ERT 12,000 12,000 26,900 23,300




ISR FIEER (8BA19~25B1EFE)

EREEAA : 2019/05/30 ~
8/19-25
FH ISR
= B2 | mawm o TE—5H
B 251% &
KR (BTR) =048 (BB¥) | ABx (BI78) % |_NUODI | 7 17100 | 58% |H:14.900. %:15.000. £:19.100. H:13.700
[ NU005 | 7 8.300 80%
U009 | 7 12800 | 69% 13,900
Fh4R (FRER) F [_NU002 7 12,800 69% 13.900
[NU004 | 7 9.200 77% 10.200
U008 7 17.100 58% | H:20.000. £::13,900, £:14.400, H:22,300
RRCHE)=RE T CFIE) 3 |_NUOTI | 7 20.400 | _70% [H:21.100. £ H:22.500
uoz7 7 21,900 68%
E=E] U070 | 7 18100 | 74%
uo7 7 25,900 62% |-
KR () =HiE Kl (A7) % | NU0B3 | 7 300 | 50%
A uog6 | 7! 300 | 73% .
BEE (PED) =04k (R |8 & 2 (hER) u 7! .800 70% .300, # H:16.700, +:17.800
U 7 ,300 69% 18,700, +:19.800, H:17.200
7 400 | 73%
u 7 700 | _74% ¥
EXIEEED 7 200 | 71% 600, %:13.
U 7 ,600 59% ,800, H:20.800
7 800 | 61% [ Jok:15.300, /KE:15.800. H:16.200
u 7 100 | 69% 8,800
L= (FRE) LS 7 4500 | 64% |&x£:21.000
b (GRE) % | NU 7 6500 | 60% | H:17.400. H:24,000

JTA



TS5 RBEER(8A26~31BEES)

EEMAE - 2019/05/30 ~
8/26-31
P TS EE
P B8 | mamR [ TE W
faiall T il
RR AR RE | R HE) R | 00T | 7 70400 | 70 |00
uo7. 7 21,900 68% +:21,700
RiER uo7 7 18.100 74% | A:19.100, £:17.900
Uo7 7 25,900 62% 1:25,700
KR (B#E)=R1E KB (BH7E) % uos 7! .300 59% 221,200,
HiEH uosi 7 .300 73% 16,300,
B EE (P E) A T B & 2 () 5 NU 7 500 | 704 517,300
U 7 ,300 69% :17.800.
U 7 1.800 74% 212,000,
U 7 1.700 74% 211,900, §
SR (ISR & U 7 2.700 72% | KA:11.600, £ 12.200
U 7 7.600 62% H:18.100, JK: 800
U 7 .800 63% | 4:12.100, 7k: 600, +:18.100
U 7 ,700 70% X:12,100, 7K:13,200, 2,700, £:18,100, +:17.600
B L= 48 (AR ER) | TE: S 7! .500 64% | & 1:21.000
ShER (IRER) U 7 .500 60% :20.400

JTA



TS5 RBEER(BAI1I~ISARES)

EEMAE - 2019/05/30 ~
8/13 8/14 8/15 8/16 8/11 8/18
=40} B4 a5$ﬁ DIESEB[ VIS EB[VINESEB[VIESEB]DIESEB|[ VIS EE
AR mmem | mmm | wme | sms | wws | wwE
R (PMA)=RiE EAC TS uo7 7 100 35.800 32.800 30.100 30.100 29.600
uo7. 7 .200 33,600 32,600 32,600 32,600
RiER uo7 7 .900 31.100 31.100 31.100
Uo7 7 .000 41,000 36,100 36,100
KR (B#E)=R1E KB (BH7E) % u08: 7! 100 21.000 21.000 21.000
e uosi 7 ,000 32,900 32,900 32,900
INER=3h AR (AR ER) IR S uo37 7 28.800 23.900 21.300 21.300
ShER (IRER) U036 7 33.200 33,200 33,200 33,200
B L= 48 (AR FR) FE Ll uott 7 36.100 23.300 15.500 14.500
ShER (RER) uo16 7 37.600 37.600 27,800 27,800

JTA



TN RFIEER(OA2~12BEES)

EREEAA : 2019/05/30 ~
9/2-12
P TS EE
=40) B =
AR i gﬁ;i E
BEE (PED) =04k (R |8 & 2 (hER) U 7 .000 75%
u 7 000 | 72%
U 7 800 | 73%
u 7 800 | 75%
i GBRER) ¢ [_NU 7 900 | 70%
u 7 600 | 66%
U 7 600 | 69%
u 7 700 | 68%
L= (FR#R) LU 5 u 7 9.700 75%
i (ARER) ¢ u 7 9,700 75%

JTA



TS5 RBIEER(OA1T~30BEES)

EREEAA : 2019/05/30 ~
9/17-19.9/24-30
P TS EE
=40) L =
AR i Eﬁﬁ;i E
BEE (PED) =04k (R |8 & 2 (hER) u 7 800 70% .600, JKA:11,000, +:14.900, H:12.200

u 7 600

U 7 400

u 7 800

G IE S u 7 100

u 7 600

U 7 600

u 7 700

FELL=3p48 (RFR) [EAIE:S u 7 9.700
i (ARER) ¢ u 7 9,700

JTA



TS5 RBEER(I0A1~10BEES)

EREEAA : 2019/05/30 ~
10/1-10
P TS EE
=40) B =
AR i gﬁ;i E

BEE (PED) =04k (R |8 & 2 (hER) U 7 .000 75%
u 7 000 | 72%
U 7 800 | 73%
u 7 800 | 75%
i GBRER) ¢ [_NU 7 800 | 73%
u 7 300 | 65%
U 7 600 | 69%

u 7 700 | 68% 13,100, H:15.700
L= (FR#R) LU 5 u 7 9.700 75%
i (ARER) ¢ u 7 9,700 75%

JTA



TS KRB HEER(10A15~26 BERD) JTA

EW#EMAA : 2019/05/30 ~

10/15-17.10/23-26
P TS EE
=40) B =
AR EEE gi] ;i =
B (FhER) =4l (BB | & B (FhEB) u 7 000 | 75% [£:12.800. £:13.900
u 7 000 [ 72% [X:14300. #:13.800, :14.900
u 7 800 | 73% [X:10.400. %:12.900, £:13.100
u 7 800
S0 (BBER) 2 [_NU 7 400 111,800, £:12.000
u 7 600 4,000, £:17.800. +:17.600
U 7 600 | 69% 3,700 7K:13.200, £:18.600
u 7 700 | 68% |/k+:13200, £:13.100
R L= 48 (R FR) LU 5 u 7 9.700 75% 6.800
i (ARER) ¢ u 7 9,700 75%




EREAE

2019/05/30 ~

=40]

B

FH
AR

9/1

ILES %R

ERE

BEE (PED) =ihik (FRER)

EZEE (PED)

2.300

7.200

.400

,800

bk (RER) R

.100

.300

.700

.700

FEIL=3#E IR ER)

i LLI 56

9.700

Shi GRER)

c|S[EIEIEIEIEIEIEIE

] ] K ) ) Y ) Y B

26.800

YLNSERIEER(OAI1BERS)

JTA



EW#EMAA : 2019/05/30 ~

TS5 BIEER(OAII~I6BEES)

9/13 9/14 9/15 9/16
T [T B[INSEBINSEB|INISES
= B8 | xR e [ moe | ane | mn
B EEE e R
L= (FRER) [EIE NUOT1 | 75HAT | 26800 | 33300 9.700 9700
b4 (FBEH) % | NUO16 | 75881 9700 9700 26,800 | 33.300

JTA



EW#EMAA : 2019/05/30 ~

TS5 RB I EER(9A20~23BEES)

9/20 9/21 9/22 9/23
T [T B[INSEBINSEB|INISES
= B8 | xR e [ moe | ane | mn
B EEE e R
L= (FRER) [EIE NUOT1 | 75HAT | 26800 | 33300 9.700 9700
b4 (FBEH) % | NUO16 | 75881 9700 9700 26,800 | 33.300

JTA



EW#EMAA : 2019/05/30 ~

ISR IEER(10A11~14BEED)

10/11 10/12 10/13 10/14
T [T B[INSEBINSEB|INISES
= B8 | xR e [ moe | ane | mn
B EEE e R
L= (FRER) [EIE NUOT1 | 75HAT | 24.800 | 33300 9.700 9700
b4 (FBEH) % | NUO16 | 75881 9700 9700 24,800 | 33.300

JTA



EW#EMAA : 2019/05/30 ~

TS5 RBIEER(10A18~22BEED)

10/18 10/19 10/20 10/21 10/22
=40} B4 FH (Y5 EB| ISR E| IS EB| VIS EE| VIS %S
AR | g | mmm | emm | Gmm | e
B L=k 48 (AR FR) [ IE: NUO11 75 Al 26.800 26.800 9.700 9.700 9.700
iR (GIRER) & | NUO16 75881 9.700 9.700 26.800 23,100 9,700

JTA



